2017/2018 Solucoes da Ficha Pratica 5 - Funcdo Implicita e Funcao Inversa AM2E

X 3933
73, ¢l(x) = -2t
¢

(4, 2) 222y ¢ 1
—_— Z2)=m ———— e —
dy v 2ry? +e* 0z

74. (y’ Z) = —W

75. a. ¢ deverd ser de classe C' numa vizinhanca de £ e ¢/ (L Zo
> 20 20 Yo

76. b. zL(1, %) _ _ 2n+4

m+4
7. 56
a. 55(0,0)=0
b. ¢(z,z) = arcsin(—zx) — e@(() 0)=0
. ,z) = arcsi ze 55(0,0)=

78. Y(v)=—-2e(z)=—-%

79.
() (—e” cos(yz) — 2x)(cos(zyz)zy + 22) — e* sin(yz)y(cos(zyz)yz + 2x)
xXr) = =
Y —e? sin(yz)z(cos(xyz)zy + 22) + e* sin(yz) cos(zryz)ryz
(—e® cos(yz) — 2x)(cos(zyz)ry + 22) — e sin(yz)y(cos(zyz)yz + 2x)
B —e*sin(yz)222
e

e” sin(yz)z(cos(zyz)yz + 2x) 4 cos(wyz)xz(e” cos(yz) 4+ 2x)
—esin(yz)z(cos(ryz)zy + 22) + e sin(yz) cos(wyz)ryz

Z(x) =

_ePsin(yz)z(cos(xyz)yz + 2x) + cos(wyz)rz(e” cos(yz) + 2)

—e” sin(yz)222

—e¥  —e¥

1. b Jac M) =~k || com fla) = ()

—€
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